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BIOLOGY (Theory)  
 
 

  : 3   : 70 

Time allowed : 3 hours Maximum Marks : 70 

 Series : GBM/1/C 57/1/1

       -    11   

 -            -  -    

       -  26     

         ,       

  -     15        -     10.15 
    10.15   10.30     -       
  -       

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be written on 
the title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will 
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this 
period. 

Code No.  

Candidates must write the Code on 
the title page of the answer-book. 
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  :  
 (i) -      26            

 (ii)  A    1  5  -  ,   1     

 (iii)  B    6  10  -   I  ,   2     

 (iv)  C    11  22 -   II  ,   3     

 (v)  D    23    4     

 (vi)  E    24  26 -  ,   5     

 (vii) -       ,   2     , 3     

  5        -         

             

 

General Instructions :   

 (i) There are total 26 questions in five sections in the question paper. All questions 

are compulsory. 

 (ii) Section A contains questions number 1 to 5, very short-answer type questions of    

1 mark each. 

 (iii) Section B contains questions number 6 to 10, short-answer type I questions of        

2 marks each. 

 (iv) Section C contains questions number 11 to 22, short-answer type II questions of    

3 marks each. 

 (v) Section D contains question number 23, value based question of 4 marks. 

 (vi) Section E contains questions number 24 to 26, long-answer type questions of         

5 marks each. 

 (vii) There is no overall choice in the question paper, however, an internal choice is 

provided in one question of 2 marks, one question of 3 marks and all three 

questions of 5 marks. In these questions, an examinee is to attempt any one 

question out of the two given alternatives. 
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 – A

SECTION – A 

 

1.                 

      1  

 Name the stage of Plasmodium that gains entry into the human when bitten by an 

infected female Anopheles. 

  

2.                     

        1  

 List any two characters of Pea plants used by Mendel in his experiments other than 

height of the plant and the colour of the seed. 

  

3.             1  

 Mention the role of Restriction Enzymes in Recombinant DNA technology. 

 

4.          ‘X-’        1  

 Name the disorder caused due to the absence of one of the X-chromosomes in a 

human female. 

 

5.                    1  

 Name the type of asexual reproduction where the parent cell ceases to exist.  
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 – B 

SECTION – B 

 
 

6.                   
,               2  

 Name and state the effect of a drug that is often medically prescribed, but its overuse 
leads to drug dependence and drug abuse. 

 

7.         2 

 Differentiate between pericarp and perisperm. 

 

8. “       ”        2  

 “Niche is a part of a habitat.” Explain with the help of an example. 

 

9.                       
            ? 2  

 Name the type of immunity a baby is born with. How is it different from the one he 
gets from the mother’s milk after birth ? 

 

10.       m-  5   AUG   3   
UAG        2 

 

 ‘’  ‘’,           2 

 State the roles of AUG codon at 5 end and UAG at 3 end of a certain m-RNA during 
translation. 

OR  

 ‘Degenerate’ and ‘Universal’ are salient features of a genetic code. Explain. 
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 – C

SECTION – C 

 

11.     (  )        3 

Write the three basic facts that are highlighted in Mendel’s Law of Dominance. 

 

12. (a)               

 (b)      ?   3 

 (a) Name the causative agent of amoebiasis and mention its symptoms. 

 (b) Write how does it spread. 

 

13. (a)     ?             

 (b)                   

    3 

(a) What is green revolution ? Mention the steps that led to it. 

(b) Name the scientist whose contribution led to development of semi-dwarf wheat 

varieties in India. 

  

14.  ()        ?       3 

 Are humming birds and fish regulators or conformers ? Give reasons in support of 

your answer. 

 

15.                
          ?        3 

 GM plants are useful in many ways. How would you convince farmers to grow GM 

plants on their field  ? Explain giving three reasons. 
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16.             3  

 Name the male accessory glands in humans and write their functions. 

 

17.             ‘’, ‘’  
‘’        ?     3  

 Write in what context did Darwin use the terms ‘fitness’, ‘survival’  and ‘selection’ 

while elaborating on the mechanism of evolution. 

  

18.              ?       
      3 

State the objective with which a dairy farm is set up. Describe the essential steps to 

be followed for dairy farm management. 

 

19.                    
    F2    F2           

              ? 3  

 When Morgan conducted dihybrid cross on Drosophila like Mendel did with pea 

plants, the F2 ratios deviated significantly from that of Mendel’s F2 ratio. Write the 

explanation Morgan and his group gave to the observations they obtained from their 

experiment. 

 

20.        ()       
              (a)    
      (b)            
       3 

Draw a diagram of a typical agarose gel electrophoresis showing migration of 

undigested and digested sets of DNA fragments. Label (a) the digested and 

undigested DNA fragments, (b) Anode and cathode ends of the plate. Mention the 

role of electrophoresis in biotechnology. 
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21. (a)               

 (b)           3 

 

 (a)           ?        

   

 (b)            ?        

    3 

 (a) Name a terminal method to prevent pregnancy in humans. 

 (b) Describe the procedure of the terminal method carried in human male and 

female. 

OR 

 (a) Do all pollen grains remain viable for the same length of time ? Support your 

answer with two suitable examples. 

 (b) How are pollen grains stored in pollen banks ? State the purpose of storing 

pollen grains in these banks. 

 

22.   (ELISA)                

      ? 3 

 Expand ‘ELISA’ְ. Why is this method preferred over conventional methods of 

diagnosis of diseases ?  
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 – D

SECTION – D 

 

23.               -  

       ,       

    -              

,       -         

 (a) -      -      

    ?    

 (b)    -           ,  

      ‘  ’         

    4 

 Waste Disposal and Waste Management poses a major problem in present times. 

Generation of garbage and its disposal is a major threat and consequently leads to 

severe environmental issues. The problem is not with biodegradable and recycled  

wastes. We realise that the need is to reduce non-biodegradable wastes. 

 (a) Why is there a great concern of managing non-biodegradable waste in 

comparison to biodegradable waste ? Explain. 

 (b) As a member of eco club of your school, suggest any two ways that you will 

discuss with your fellow members to organise for a “Zero garbage day” once in 

a month in the school. 
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 – E
SECTION – E 

 

24. (a)      1, 2  3    
 (b)        

 
 (c)                 ? 1½ + 1½ + 2 = 5 

 
 (a)                 

  
 (b)           ? 5

 (a) Identify the parts labelled 1, 2  and 3 in the diagram given. 
 (b) Draw a labelled diagram of a human blastocyst. 

 
 (c) What is parturition and how is it induced at the end of pregnancy in a human 

female ? 
OR 

 (a) With labelled diagrams, depict stages in embryo development in a 
dicotyledenous plant. 

 (b) Endosperm development precedes embryo development. Why ? 
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25. (a)     -      ?   - 

       

 (b)              -    

  ? 3 + 2 = 5 



        ..        

    ?    5 

(a) How are polygenic inheritance and multiple allelism different ? Explain with 

the help of an example each. 

(b) List the criteria a chemical molecule must fulfill to be able to act as a genetic 

material. 

OR 

State the hypothesis proposed by Oparin and Haldane. How was it experimentally 

proved by S.L. Miller ? Explain.

  

26.         ?          

   -       5

 

(a)    ,      ,   

   -        -    

     

 (b) -    (i) .... (IUCN)     (ii) - 

      5 



57/1/1 11 [P.T.O. 

 What does an Ecological Pyramid indicate ? Explain the three different types of 

upright Pyramids in nature with the help of an example each. 

OR 

 (a) Indiscriminate human activities such as alien species invasion, fragmentation 

and habitat loss have accelerated the loss of biodiversity. Justify by taking one 

example for each.  

 (b) State the importance of (i) IUCN Red data list and (ii) Hot spots in conservation 

of biodiversity.  
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